

$$3x^2 - ax + 4 = 0$$

$$\alpha = 3\beta$$

$$\alpha + \beta = \frac{a}{3}$$

$$\alpha \cdot \beta = \frac{4}{3} \rightarrow (3\beta) \cdot \beta = \frac{4}{3} \rightarrow \beta^2 = \frac{4}{9} \rightarrow \beta = \pm \frac{2}{3} \rightarrow \begin{cases} \beta = \frac{2}{3} \rightarrow \alpha = 2 \rightarrow S_1 = 2 + \frac{2}{3} = \frac{8}{3} \\ \beta = -\frac{2}{3} \rightarrow \alpha = -2 \rightarrow S_2 = -2 - \frac{2}{3} = -\frac{8}{3} \end{cases}$$

$$S_1 = \frac{a_1}{3} = \frac{8}{3} = \frac{a_1}{3} \rightarrow a_1 = 8$$

$$S_2 = \frac{a_2}{3} = -\frac{8}{3} = \frac{a_2}{3} \rightarrow a_2 = -8$$

$$\left\{ \begin{array}{l} a_1 - a_2 = 8 - (-8) = 16 \end{array} \right.$$

$$34x^2 - (m+14)x + 1 = 0$$

$$\frac{1}{\sqrt{\alpha}} + \frac{1}{\sqrt{\beta}} = \Delta \rightarrow \frac{\sqrt{\alpha} + \sqrt{\beta}}{\sqrt{\alpha\beta}} = \frac{\sqrt{\alpha+13+2\sqrt{\alpha\beta}}}{\sqrt{\alpha\beta}} = \frac{\sqrt{S+2\sqrt{P}}}{\sqrt{P}} = \Delta$$

$$\begin{aligned} P &= \frac{1}{34} \rightarrow \frac{\sqrt{S+\frac{1}{34}}}{\frac{1}{34}} = \Delta \rightarrow \sqrt{S+\frac{1}{34}} = \frac{\Delta}{34} \rightarrow S+\frac{1}{34} = \frac{\Delta^2}{34} \rightarrow S = \frac{\Delta^2 - 1}{34} = \frac{m+14}{34} \end{aligned}$$

$$\Rightarrow \boxed{m = -1} \rightarrow mn^2 + 14n + 1 = 0 \rightarrow -n^2 + 14n + 1 = 0 \rightarrow P = \frac{c}{a} = \frac{1}{-1} = -1$$

$$fx^3 + kx^2 - 9x - 2 = 0$$

$$\alpha + \beta \geq 1 \rightarrow \alpha = 1 - \beta$$

$$\alpha \cdot \beta = -2$$

$$\beta(1-\beta) = -2 \rightarrow \beta^2 - \beta - 2 = 0 \rightarrow (\beta-2)(\beta+1) = 0$$

$$\rightarrow \beta = 2 \rightarrow \alpha = -1$$

$$\rightarrow \beta = -1 \rightarrow \alpha = 2$$

چون α و β از ریشه‌های معادله هستند
 پس مجموع ضرایب علامت‌دار با مجموع
 ضرایب علامت‌دار برابر است
 $\Rightarrow \frac{f+(-9)}{-\Delta} = k + (-2) \rightarrow \boxed{k = -3}$

$$x^2 + 4x + a = 0 \rightarrow \alpha = \frac{-4 - \sqrt{4(9-a)}}{2} = -2 - \sqrt{9-a}$$

$$\beta = \frac{-4 + \sqrt{4(9-a)}}{2} = -2 + \sqrt{9-a}$$

$$\alpha^2 = (-2 - \sqrt{9-a})^2 = 4 - a + 4\sqrt{9-a} \rightarrow 3\alpha^2 = 12 - 3a + 12\sqrt{9-a}$$

$$\beta^2 = (-2 + \sqrt{9-a})^2 = 4 - a - 4\sqrt{9-a} \rightarrow 2\beta^2 = 8 - 2a - 8\sqrt{9-a}$$

$$\Rightarrow 3\alpha^2 + 2\beta^2 = 20 - 5a + 4\sqrt{9-a} = 12\sqrt{2} + 18 \rightarrow 9 - 5a = 18 \rightarrow \boxed{a = -1}$$

$$x^2 - vx^2 - \Delta = 0 \rightarrow x^2 = \frac{-b \pm \sqrt{\Delta}}{fa} \rightarrow x^2 = \frac{v \pm \sqrt{49}}{2}$$

$$\Rightarrow x^2 = \frac{v + \sqrt{49}}{2} \rightarrow x = \pm \sqrt{\frac{v + \sqrt{49}}{2}}$$

$$S = \sqrt{\frac{v + \sqrt{49}}{2}} + \left(-\sqrt{\frac{v + \sqrt{49}}{2}} \right) = 0$$

$$P = -\left(\frac{v + \sqrt{49}}{2}\right) \rightarrow PP^r = 3SP + 2S = 2\left(-\frac{v + \sqrt{49}}{2}\right) + 0 = \frac{11 + 14\sqrt{49}}{2} = \boxed{59 + 7\sqrt{49}}$$

$$r m^r - a m + b = 0 \rightarrow 0$$

$$r a m^r + a m - 4 = 0 \rightarrow (r)$$

$$S_1 - S_r = 1 \rightarrow \frac{a}{r} - \left(\frac{-a}{r a} \right) = 1 \rightarrow a+1 = r \rightarrow \boxed{a=+1}$$

$$(\alpha + \frac{1}{r})(\beta + \frac{1}{r}) = \frac{\alpha\beta}{-r} + \frac{1}{r}(\alpha + \beta) + \frac{1}{r} = \frac{b}{r} \rightarrow \boxed{b=-4}$$

$$\left[\frac{a}{r} \right] = \left[\frac{-4}{r} \right] = \boxed{-2}$$

$$a m^r - a m - b = 0 \rightarrow \alpha + \beta = 1, \alpha \cdot \beta = -\frac{b}{a} \rightarrow \beta(1-\beta) = -\frac{b}{a} \rightarrow \beta^r - \beta = \frac{b}{a}$$

$$r_0 \beta^r + r_0 \alpha^r - r_0 \beta = 14 \rightarrow r_0(\alpha^r + \beta^r) + r_0(\beta^r - \beta) = 14 \rightarrow r_0(1 + \frac{r b}{a}) + \frac{r_0 b}{a} = 14$$

$$2) \frac{r_0 b}{a} = -r \rightarrow \frac{b}{a} = -\frac{r}{r_0} \rightarrow a = -r_0 b$$

$$2) -r_0 b m^r + r_0 m - b = 0 \rightarrow \text{المعادلة} = \frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{r_0 b^r - 1 \cdot b^r}}{|-r_0 b|} = \frac{\sqrt{r_0 b^r}}{|-r_0 b|} = \left| \frac{\sqrt{r_0 b^r}}{\frac{r_0 b}{\sqrt{a}}} \right|$$

$$2) \left| \frac{\sqrt{r_0 b^r}}{\frac{r_0 b}{\sqrt{a}}} \right| = \frac{r}{\sqrt{a}}$$

$$m^r - (a+1)m + a = 0 \rightarrow S_1 = a = r$$

$$m_1 + m_r = a+1 \xrightarrow{m_r = r} r m_1 + r = a+1 \rightarrow a = r m_1 + 1$$

$$m_1 \cdot m_r = a \xrightarrow{m_r = r} a = m_1 + 1 \quad m_1^r + r m_1 = r m_1 + 1 \rightarrow m_1 = \pm 1 \quad \xrightarrow{m_1, m_r} \boxed{m_1 = 1}, \boxed{m_r = r}$$

$$\Rightarrow a = r(1+1) = r$$

$$m^r - (r+1)m + b = 0$$

$$m_r + m_f = r+1 \xrightarrow{m_f = r} r m_r + r = r+1 \xrightarrow{a=r} r m_r + r = 1 \rightarrow \boxed{m_r = r}, \boxed{m_f = 1}$$

$$m_r \cdot m_f = b \Rightarrow r \cdot 1 = b \rightarrow b = r$$

$$S_r = b = r$$

$$\boxed{S_r - S_1 = r - r = 0}$$

$$m^r + m - 1 - m^r = 0$$

$$\alpha + \beta = -1 \rightarrow \alpha = -1 - \beta$$

$$\alpha \cdot \beta = -(1+m^r)$$

$$\alpha^r + \beta^r = (\alpha + \beta)^r - r \alpha \beta = 1 + r + r m^r = r m^r + r \rightarrow \alpha^r + \beta^r = r m^r + r$$

$$\text{بما أن } \alpha^r + \beta^r \text{ مقدار } m^r \text{، إذاً } \Rightarrow m=0 \rightarrow \boxed{\alpha^r + \beta^r = r}$$

بما أن m مقدار m است

$$A(r, y) \xrightarrow[\text{دائرة}]{\text{خط عرض بدار}} \text{نقطة} = \frac{r+(y)}{r} \rightarrow m_3 = -1$$

$$B(-2, y)$$

$$\Rightarrow S(-1, 1) \rightarrow y = a(m+1)^r + 1 \rightarrow y = a m^r + r a m + a + 1$$

$$\alpha^r + \beta^r = (\alpha + \beta)^r - r \alpha \beta = S^r - r P \rightarrow \left(\frac{-r a}{r} \right)^r - r \left(\frac{a+1}{a} \right) = 1 \rightarrow \frac{r}{a} = r \rightarrow a = \frac{r}{r}$$

$$\boxed{a+1 = \frac{r}{r} + 1 = \frac{1}{r}}$$